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1f n is not present then the nuMIer iS5 JUTTLT 1A soentifiz ~mtartic, witt A

mantissa and an exsonent. 1f the nurs
output prior to the mantissa, OTNerwise a 30472 1s WITut.
always output to at least one Jecmal 3iac2 U3 13 A MaIimum
places and the exponent is always 51372C .21ther with a plus Ir Mirus si
This means that the mummum width of the scentific resresertansn =

characters; if the field wicth m 1S less than S then the full wiltn of 2
characters will always be output.

If m>=3 tnen one Or more cdecmal dlalos
will be ocutput up tO a4 maxynum

ar s negative then a mit.d TLIT
The et er s
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of S cecmal places (m=1l) For mO12 leac:ng
spaces are inserted before the number. Examples!

WRITE(-1.23E 10:m)}

ms7 gives: -1.23000E+10
m=8 gives: -1.25+10

me? gives: -1.2CE+10
‘m=10 gives: -1.230E+10
meil gives: ~1.2300E+10
m=12 gives: -1.23000E+10
m=13 gives: _-1.23000E+10

If the form <e!min> is used Then a fixed-o0int representati=n cf the ~urTer
g will be writter with n specfying the number of jec.ma. olazes T e
output. No leadurg spaces ~ill De autsut uniess he field ~ T & s
sufficently large, If n 1s ero then @ 1S cutsuT as an integer, I @ is TOC
large to be cutput :n the sperfied fielo wigin then it 1s SLITUT A s=emTieis
format with a field width of m /see adovel. Zxamples.

WRITE(1E2:8:2 gives: 100.80
WRITE(1Z23:D)  gives! _100.00
WRITSIS3.455:L:1) gavest 238
WEITT(23.455:3:0) guives!  _2.3<SSOE+0L

WRITE(S.455:4:0) gives: _23

4) e is of type character or type stnrg.

ene CharalTer Gr STTINg ©F TharaTt2rs

ither <e> or <em) may be used .o
sf 5 (for zharactersd or tt@ LengIt oF

will be output 1n a manrmum field wadtn
the string (For string types). Laaling =4S ara "ns
large.
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5] e is of type Boolean.

Either (ey or Ceim> may be usec and ~aUT' or TALIE" «llS2 TR
deoencing on the 3cclean value of & , USING @ MINLTIT Fl@ll ~ioit 2 S
respectively,
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